#### Case 10-26881 Doc 719-3 Filed 10/25/11 Entered 10/25/11 15:27:08 Desc Exhibit C Page 1 of 4

#### EXHIBIT C

#### Kinetic Advisors, LLC

Debtor: Corus Bankshares, Inc. Time Detail For September 1, 2011 to September 30, 2011

### 03 - Business Operations

09/22/11	Sudhin Roy	03 - Business Operations	Attend Debtor's Board meeting by phone.	1.2	\$700.00	\$840.00
	Sudhin Roy - Se	nior Managing Director		1.2		\$840.00
	TOTAL	03 - Business Operations		1.2	· <u>-</u>	\$840.00
<u>04 - Case</u>	Administration					
09/19/11 09/20/11	Luis Salaman Luis Salaman	04 - Case Administration 04 - Case Administration	Prepare 13th monthly fee application. Prepare 13th monthly fee application.	1.8 0.8	\$200.00 \$200.00	\$360.00 \$160.00
	Luis Salaman -	Operations Manager		2.6		\$520.00
	TOTAL	04 - Case Administration		2.6	-	\$520.00
<u>07 - Plan a</u>	and Disclosure Sta	tement				
09/03/11	Jerry Mozian	07 - Plan and Disclosure Statemer	n Status update call with S. Roy, N. Bubna and J. Chalus.	0.7	\$500.00	\$350.00
09/03/11	Jerry Mozian	07 - Plan and Disclosure Statemer	of Call with S. Roy and J. Chalus regarding FDIC objection to plan.	0.7	\$500.00	\$350.00
09/07/11	Jerry Mozian	07 - Plan and Disclosure Statemer	Analysis of FDIC, TruPs and other creditors relative distribution under various scenarios.	2.2	\$500.00	\$1,100.00
09/08/11	Jerry Mozian	07 - Plan and Disclosure Statemer	Additional analysis of FDIC, TruPs and other creditors relative distribution under various	0.5	\$500.00	\$250.00
09/08/11	Jerry Mozian	07 - Plan and Disclosure Statemer	scenarios. at Call with S. Roy and J. Chalus to discuss FDIC claim and plan adjustment.	0.7	\$500.00 _	\$350.00
	Jerry Mozian - Managing Director					\$2,400.00
09/01/11	John Chalus	07 - Plan and Disclosure Statemer	n Plan update call with S. Roy, J. Mozian, N. Bubna and prepared agenda.	0.3	\$350.00	\$105.00
09/01/11	John Chalus	07 - Plan and Disclosure Statemer	If Work on post-confirmation scope of services	0.5	\$350.00	\$175.00
09/01/11	John Chalus	07 - Plan and Disclosure Statemer	at Update Debtor's management agreement structure document and circulate to S. Roy, J. Mozian and N. Bubna.	0.6	\$350.00	\$210.00
09/03/11	John Chalus	07 - Plan and Disclosure Statemen	It Status update call with S. Roy, N. Bubna and J. Mozian.	0.7	\$350.00	\$245.00
09/04/11	John Chalus	07 - Plan and Disclosure Statemen	of Call with S. Roy to discuss document progress.	0.6	\$350.00	\$210.00

# Case 10-26881 Doc 719-3 Filed 10/25/11 Entered 10/25/11 15:27:08 Desc Exhibit C Page 2 of 4

#### EXHIBIT C

09/06/11	John Chalus	07 - Plan and Disclosure Statemen	t Call with S. Roy and J. Mozian to discuss	0.7	\$350.00	\$245.00
09/08/11	John Chalus	07 - Plan and Disclosure Statemen	FDIC plan objection. 1 Call with S. Roy and J. Mozian to discuss FDIC claim and plan adjustment.	0.7	\$350.00	\$245.00
09/08/11	John Chalus	07 - Plan and Disclosure Statemen	1 Create sensitivity model and cash projections for FDIC objection calculations.	1.9	\$350.00	\$665.00
09/09/11	John Chalus	07 - Plan and Disclosure Statemen	t Call with D. Seligman, S. Roy and D. Brown to discuss the FDIC objection and related calculations.	0.7	\$350.00	\$245.00
09/16/11	John Chalus	07 - Plan and Disclosure Statemen	Prepare slides for Debtor's management regarding post-confirmation process and offerings.	2.9	\$350.00	\$1,015.00
09/26/11	John Chalus	07 - Plan and Disclosure Statemen	Create and send D&O policy change of control analysis to J. Gettleman.	0.7	\$350.00	\$245.00
09/26/11	John Chalus	07 - Plan and Disclosure Statement	Preparatory meeting at counsel's office for confirmation hearing.	1.3	\$350.00	\$455.00
09/27/11	John Chalus	07 - Plan and Disclosure Statement	Meeting with S. Roy and J. Decker to discuss investment prospects and fund raising for reorganized Debtor.	1.3	\$350.00	\$455.00
09/27/11	John Chalus	07 - Plan and Disclosure Statement	Attend Debtor's confirmation hearing.	0.8	\$350.00	\$280.00
09/28/11	John Chalus		Case process meeting with D. Seligman, J. Gettleman, D. Brown, R. Curtis, S. Antal, J. Decker and S. Roy		\$350.00	\$840.00
	John Chalus - V	ice President		16.1		\$5,635.00
09/01/11	Nishant Bubna		Continue refining research data for presentation for S. Roy and J. Chalus.	2.1	\$275.00	\$577.50
09/02/11	Nishant Bubna	07 - Plan and Disclosure Statement	Continue refining research data for presentation for S. Roy and J. Chalus.	2.4	\$275.00	\$660.00
09/03/11	Nishant Bubna	07 - Plan and Disclosure Statement	Status update call with S. Roy, J. Chalus and J. Mozian.	0.5	\$275.00 	\$137.50
	Nishant Bubna -	Associate		5.0		\$1,375.00
09/01/11	Sudhin Roy	07 - Plan and Disclosure Statement	Review various market transactions.	12	\$700.00	\$840.00
09/01/11	Sudhin Roy	07 - Plan and Disclosure Statement	Call with Holdco Advisors on certain plan matters.	1.1	\$700.00	\$770.00
09/03/11	Sudhin Roy	07 - Plan and Disclosure Statement	Status update call with J. Chalus, N. Bubna and J. Mozian.	0.7	\$700.00	\$490.00
09/04/11	Sudhin Roy	07 - Plan and Disclosure Statement	Call with J. Chalus to discuss document progress.	0.6	\$700.00	\$420.00
09/05/11	Sudhin Roy	07 - Plan and Disclosure Statement	Review analysis related to various business plan matters.	1.4	\$700.00	\$980.00
09/06/11	Sudhin Roy	07 - Plan and Disclosure Statement	Call with J. Mozian and J. Chalus regarding FDIC objection to plan.	0.7	\$700.00	\$490.00
09/07/11	Sudhin Roy	07 - Plan and Disclosure Statement	Review analysis related to various payout scenarios.	4.5	\$700.00	\$3,150.00
09/08/11	Sudhin Roy	07 - Plan and Disclosure Statement	Call with J. Chalus and J. Mozian to discuss FDIC claim and plan adjustment.	0.7	\$700.00	\$490.00

# Case 10-26881 Doc 719-3 Filed 10/25/11 Entered 10/25/11 15:27:08 Desc Exhibit C Page 3 of 4

## EXHIBIT C

	TOTAL	07 - Plan and Disclosure Stmt.	84.5		\$50,430.00
	Sudhin Roy - So	enior Managing Director	58.6		\$41,020.00
09/30/11	Sudhin Roy	07 - Plan and Disclosure Statement Meeting with Holdco Advisors on certain post-confirmation matters.	1.5	\$700.00	\$1,050.00
09/29/11	Sudhin Roy	07 - Plan and Disclosure Statement Call with J. Decker on certain post- confirmation planning matters.	0.8	\$700.00	\$560.00
09/28/11	Sudhin Roy	07 - Plan and Disclosure Statement Meeting with Holdco Advisors on various post-confirmation matters.	1.2	\$700.00	\$840.00
09/28/11	Sudhin Roy	for reorganized Debtor. 07 - Plan and Disclosure Statement Post-confirmation planning meeting with J. Decker, J. Chalus and counsel.	2.4	\$700.00	\$1,680.00
09/27/11	Sudhin Roy	07 - Plan and Disclosure Statement Meeting with J. Chalus and J. Decker to discuss investment prospects and fund raising	1.3	\$700.00	\$910.00
09/27/11	Sudhin Roy	07 - Plan and Disclosure Statement Attend Debtor's confirmation hearing.		\$700.00	\$840.00
09/26/11	Sudhin Roy	07 - Plan and Disclosure Statement Meeting with counsel regarding confirmation hearing.	1.8	\$700.00	\$1,260.00
09/24/11	Sudhin Roy	07 - Plan and Disclosure Statement Review all documents related to confirmation hearing.	2.4	\$700.00	\$1,680.00
09/23/11	Sudhin Roy	07 - Plan and Disclosure Statement Review business plan and valuation assumptions for potential testimony.	2.6	\$700.00	\$1,820.00
09/22/11	Sudhin Roy	07 - Plan and Disclosure Statement Call with J. Decker regarding various confirmation matters.	1.2	\$700.00	\$840.00
09/22/11	Sudhin Roy	filings. 07 - Plan and Disclosure Statement Call with D. Seligman regarding confirmation matters.	1.4	\$700.00	\$980.00
09/21/11	Sudhin Roy	07 - Plan and Disclosure Statement Prepare for potential confirmation including review of plan, disclosure statement and other	3.6	\$700.00	\$2,520.00
09/20/11	Sudhin Roy	07 - Plan and Disclosure Statement Review various documents relating to FDIC objection.	2.4		
09/19/11	Sudhin Roy	07 - Plan and Disclosure Statement Work on post-bankruptcy workplan.	2.2	\$700.00	\$1,540.00
09/16/11	Sudhin Roy	07 - Plan and Disclosure Statement Review analysis related to FDIC presentation.	3.0		
09/15/11	Sudhin Roy	07 - Plan and Disclosure Statement Discussion with Board member on status.	0.8	\$700.00	\$560.00
09/15/11	Sudhin Roy	07 - Plan and Disclosure Statement Develop post-confirmation workplan for J. Decker.	1.5	\$700.00	\$1,050.00
09/15/11	Sudhin Roy	07 - Plan and Disclosure Statement Meeting with Holdco Advisors and counsel on various confirmation matters.	2.5	\$700.00	\$1,750.00
09/13/11	Sudhin Roy	07 - Plan and Disclosure Statement Meeting with Holdco Advisors on confirmation matters.	1.4	\$700.00	\$980.00
09/12/11	Sudhin Roy	07 - Plan and Disclosure Statement Review FDIC objection.		\$700.00	
09/12/11	Sudhin Roy	07 - Plan and Disclosure Statement Finalize FDIC presentation with changes to multiple drafts.	3.4	\$700.00	\$2,380.00
09/12/11	Sudhin Roy	07 - Plan and Disclosure Statement Post-confirmation planning meeting with J. Decker.	. 2.1	\$700.00	\$1,470.00
09/09/11	Sudhin Roy	07 - Plan and Disclosure Statement Develop presentation for FDIC.	4.7	\$700.00	\$3,290.00
09/09/11	Sudhin Roy	07 - Plan and Disclosure Statement Call with D. Seligman, J. Chalus and D. Brown to discuss payout scenarios.	0.8	\$700.00	\$560.00

## Case 10-26881 Doc 719-3 Filed 10/25/11 Entered 10/25/11 15:27:08 Desc Exhibit C Page 4 of 4

### EXHIBIT C

<u>09 - Travel</u>

09/26/11	Sudhin Roy	09 - Travel	One-half travel time from New York to Chicago.	2.0	\$700.00	\$1,400.00
09/27/11	Sudhin Roy	09 - Travel	One-half travel time from Chicago to New York.	2.0	\$700.00 	\$1,400.00
	Sudhin Roy - Senior Managing Director			4.0		\$2,800.00
	TOTAL	09 - Travel		4.0		\$2,800.00
	GRAND TOTAL				_	<u>\$54,590.00</u>